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1. In Marxian analysis, scientific

knowledge, skill and technology

employed in the process of

production, is known as :

(A) Means of production

(B) Forces of production

(C) Mode of production

(D) Relations of production

2. The behaviour that violates the

social norms of a given society is

termed as :

(A) Social Disintegration

(B) Social Deviance

(C) Abnormal Behaviour

(D) Anti-Social Behaviour

1. ekDlZoknh fo'ys"k.kkr] 'kkL=h; Kku] dkS'kY;s

vkf.k ra=Kku] mRiknukph izfÿ;k Eg.kwu tsOgk

okijys tkrkr rsOgk R;kyk dk; EgVys

tkrs \

(A) mRiknukph lk/kus

(B) mRiknukph 'kDrh

(C) mRiknu iz.kkyh

(D) mRiknu laca/k

2. lektkus ?kkywu fnysY;k lkekftd fu;eukapk

Hkax dj.kkjs orZu tsaOgk gksrs rsOgk R;kyk dks.kR;k

laKsus lacks/kys tkrs \

(A) lkekftd foLdfˇri.kk

(B) lkekftd fopyu

(C) vilkekU; orZu

(D) lekt&fo?kkrd orZu

Sociology
Paper II

lekt'kkL=
iz'uif=dk II

Time Allowed : 75 Minutes] [Maximum Marks : 100

Note : This Paper contains Fifty (50) multiple choice questions. Each question

carries Two (2) marks. Attempt All questions.

lwpuk % ;k iz'uif=dsr ,dw.k iÈkkl (50) cgqi;kZ;h iz'u fnysys vkgsr- izR;sd iz'ukyk nksu (2)

xq.k vkgsr- loZ iz'u lksMok-
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3. Whose theory of self emphasizes

that, individual’s self is the product

of social interactions ?

(A) C. H. Cooley

(B) Max Weber

(C) Vilfredo Pareto

(D) B. F. Skinner

4. Which of the following factors makes

clear the substance of Social

Stratification ?

(A) Social Inequality

(B) Social Differentiation

(C) Social Categorization

(D) A system of evaluation, ranking

and differential rewarding of

roles in society

3. O;Drhpk ^Lo* gh lkekftd vkarjfÿ;sph

fufeZrh vkgs] ;koj dks.kkP;k ^Lo* fo"k;d

flºkarkr Hkj ns.;kr vkyk vkgs \

(A) lh-,p~- dwys

(B) eWDl oscj

(C) foY›sM ijsVks

(D) ch- ,Q~- fLduj

4. [kkyhyi Sdh dk s. krk ?kVd lkekftd

Lrjhdj.kkpk vk'k; Li"V djrks \

(A) lkekftd fo"kerk

(B) lkekftd foHksnu

(C) lkekftd izoxhZdj.k

(D) lektkrhy Hk w fedk ap s e wY;ekiu]

Js.khfuf'prh vkf.k R;kauk foHksfnr

ikfjrksf"kds iznku dj.;kph O;oLFkk
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5. The process that regulates

behaviour of the member of society

is termed as :

(A) Social role

(B) Social prevention

(C) Social control

(D) Social engineering

6. Which one of the following is not a

feature of caste system ?

(A) Exogamy

(B) Ritual hierarchy

(C) Purity and pollution

(D) Division of labour based on

ascription

5. lektkrhy O;Drhp s or Zu fu; a f=r

dj.;kP;k izfÿ;syk dks.kR;k ukokus vkš [kys

tkrs \

(A) lkekftd Hkwfedk

(B) lkekftd izfrca/k

(C) lkekftd fu;a=.k

(D) lkekftd vfHk;kaf=dh

6. [kkyhyiSdh dks.krs tkrh O;oLFksps oSf'k"VÓ

ukgh \

(A) cfgfoZokg

(B) /keZfo/khrhy mPpuhprk

(C) ifo=rk vkf.k vifo=rk

(D) vfiZrrsoj vk/kkfjr JefoHkktu
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7. Select the correct match :

(A) Anutoma—Marriage between

a higher caste woman with a

lower caste man

(B) Pratiloma—Marriage between

a lower caste woman with a

higher caste man

(C) M o n o g a m y — M a r r i a g e

between one man and one

woman

(D) E n d o g a m y — M a r r i a g e

between persons of different

Caste and Gotra

8. Which of the following is not true

about education ?

(A) Helps to raise one’s social status

(B) Helps to accelerate social

mobility

(C) Helps to promote social change

(D) Helps to maintain social

inequality

7. ;ksX; tksMhph fuoM djk %

(A) vuqykseµmPp tkrhrhy L=h vkf.k

dfu"B tkrhrhy iq#"k ;kapk fookg

(B) izfrykseµdfu"B tkrhrhy L=h vkf.k

ofj"B tkrhrhy iq#"k ;kapk fookg

(C) ,dfookgµ,d L=h vkf.k ,d iq#"k

;kapk fookg

(D) varfoZokgµfofHkUu tkrh vkf.k xks=

;kaP;krhy O;Drhae/khy fookg

8. [kkyhyiSdh dks.krs fo/kku f'k{k.kkP;k ckcrhr

[kjs ukgh \

(A) ,[kk|kpk lkekftd ntkZ ok<fo.;klkBh

lgk∏;Hkwr

(B) lkekftd xfr'khyrk ok<fo.;klkBh

lgk∏;Hkwr

(C) lkekftd ifjorZukyk xfreku dj.;klkBh

lgk∏;Hkwr

(D) lkekftd vlekurk fVdfo.;klkBh

lgk∏;Hkwr

http://www.studentbounty.com/
http://studentbounty.com/


5 [P.T.O.

NOV. - 14211/II

9. Which of the following is the

primary agency of socialization ?

(A) College

(B) School

(C) Family

(D) Mass media

10. Who coined the term ‘Primary

Group’ ?

(A) C. Cooley

(B) F. Tonnies

(C) H. Spencer

(D) R. Brown

11. Which of the following is relatively

more important and broad

component of culture ?

(A) Non-material culture

(B) Material culture

(C) Normative culture

(D) Cognitive culture

9. [kkyhyiSdh lekthdj.kkps izkFkfed lk/ku

dks.krs vkgs \

(A) egkfo|ky;

(B) 'kkˇk

(C) dqVqac

(D) izlkjek/;es

10. ^izkFkfed lewg* gh laKk loZizFke dks.kh

okijyh \

(A) lh- dwys

(B) ,Q~- Vksful

(C) ,p~- LisUlj

(D) vkj~- czk≈u

11. [kkyhyiSdh laLœrhpk dks.krk ?kVd lkis{kr%

vf/kd egRokpk vkf.k O;kid vkgs \

(A) vHkkSfrd laLœrh

(B) HkkSfrd laLœrh

(C) fu;eukRed laLœrh

(D) cks/kkRed laLœrh
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12. Time gap that occurs when changes

in material culture come more

rapidly than non-material culture is

known as :

(A) Linear change

(B) Cyclical change

(C) Cultural diffusion

(D) Cultural lag

13. Identity the correct statement :

(A) Status is the dynamic aspect of

social role

(B) Social role is the dynamic aspect

of social status

(C) Social role can operate without

social status

(D) Status is dynamic while role is

fixed

12. vHkkSfrd laLœrhis{kk HkkSfrd laLœrhr osxkus

ifjorZu gksr vlrkuk ts varj fuekZ.k gksrs R;kl

dk; Eg.krkr \

(A) ,djs"kh; ifjorZu

(B) pÿh; ifjorZu

(C) lkaLœfrd izlj.k

(D) lkaLœfrd i‹pk;u

13. ;ksX; fo/kku dks.krs rs vkš [kk %

(A) ntkZ gk lkekftd Hkwfedspk xrh'khy iSyw

vkgs

(B) lkekftd Hkwfedk gh lkekftd ntkZph

xrh'khy cktw vkgs

(C) lkekftd ntkZf'kok; lkekftd Hkwfedk

ikj ikMrk ;srs

(D) ntkZ gk xhr'khy vlrks] rj Hkwfedk gh

fLFkj vlrs

http://www.studentbounty.com/
http://studentbounty.com/


7 [P.T.O.

NOV. - 14211/II

14. When two or more persons mutually

influence each others’ behaviour; the

process is labelled as :

(A) Social Event

(B) Social Behaviour

(C) Social Action

(D) Social Interaction

15. Which term is used to denote the

researches’ bias in sample selection

procedures ?

(A) Purposive Sampling

(B) Non-purposive Sampling

(C) Scientific Error

(D) Sampling Error

16. A predetermind list of questions to

collect responses from the

respondents is called :

(A) Interview

(B) Questionnaire

(C) Survey

(D) Observation

14. tsOgk nksu fdaok vf/kd O;Drh ijLijkaps orZu

izHkkfor djrkr] rh izfÿ;k Eg.kts %

(A) lkekftd ?kVuk

(B) lkekftd orZu

(C) lkekftd fÿ;k

(D) lkekftd vkarjfÿ;k

15. uequk&fuoMhP;k iºrhckcrP;k la'kks/kdkP;k

iwoZxzgkpk funsZ'k dj.;klkBh dks.krh laKk

okijyh tkrs \

(A) gsrwfu"B uequk&fuoM

(B) v&gsrwfu"B uequk&fuoM

(C) 'kkL=h; izekn

(D) uequk&fuoMhrhy izekn

16. mŸkjnkR;kadMwu rF;ladyuklkBh iwoZfuf'pr

dsysY;k iz'ukaP;k lwphyk dk; Eg.krkr \

(A) eqyk[kr

(B) iz'ukoyh

(C) losZ{k.k

(D) fujh{k.k
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17. Which of the following primarily

acts as a formal agency of social

control ?

(A) Association

(B) Education

(C) Law

(D) Reference Group

18. The measure of central tendency

used to describe the most frequently

occurring category of a non-numeric

variable is termed as :

(A) Mean

(B) Median

(C) Correlation

(D) Mode

19. According to positivistic school, the

researcher has to study social

phenomena :

(A) Subjectively

(B) Objectively

(C) Emotionally

(D) Ethically

17. iq<hyiSdh izkeq[;kus dks.krs lkekftd

fu;a=.kkps vkSipkfjd lk/ku vkgs \

(A) eaMˇ

(B) f'k{k.k

(C) dk;nk

(D) lanHkZ lewg

18. fcxj&vadh; ifjoR;kZP;k okjaokj ;s.kkÚ;k

izoxkZps o.kZu dj.;klkBh okij.;kr ;s.kkÚ;k

dsaÊh; izo`ŸkhP;k ekiu ra=kyk dks.krh laKk

okijyh tkrs \

(A) e/;eku

(B) e/;kad

(C) lglaca/k

(D) cgqyd

19. izR;{koknh fopkjiz.kkyhuqlkj la'kks/kdkus

lkekftd ?kVukapk dlk vH;kl djkok vlk

vkxzg vlrks \

(A) O;fDrfu"Bi.ks

(B) oLrqfu"Bi.ks

(C) HkkoukRedrsus

(D) uSfrdrsuqlkj
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20. A statement about interrelationship

between two variables in the context

of a research question is termed

as :

(A) Concept

(B) Hypothesis

(C) Theory

(D) Paradigm

21. In which process lower caste follows

the higher caste ?

(A) Civilization

(B) Modernization

(C) Sanskritization

(D) Westernization

22. Gender is :

(A) Biological Construct

(B) Socio-Cultural Construct

(C) Ecological Construct

(D) Moral Construct

20. la'kks/ku leL;sP;k lanHkkZr] nksu ifjoR;k±eËkhy

ijLijlaca/kkafo"k;h dsysY;k fo/kkukpk funsZ'k

dj.;klkBh dks.krh laKk okijyh tkrs \

(A) ladYiuk

(B) vH;qixe

(C) flºkar

(D) n`f"Vdksu

21. dks.kR;k izfÿ;se/;s dfu"B tkr ofj"B tkrhps

vuqdj.k djrs \

(A) ukxfjdhdj.k

(B) vk/kqfudhdj.k

(C) laLœrhdj.k

(D) ikf'pekR;hdj.k

22. fyaxHkko Eg.kts %

(A) tSfod jfpr

(B) lkekftd&lkaLœfrd jfpr

(C) ikfjfLFkfrd jfpr

(D) uSfrd jfpr
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23. O;Drhps orZu pkaxys dh okbZV] pwd dh cjkscj

gs Bjfo.;klkBh yksd lkekU;r% th ekuds izek.k

ekurkr R;kapk mYys[k dks.kR;k ukokus dsyk

tkrks \

(A) laca/kkRed fu;eus

(B) fu;eukRed fu;eus

(C) lkekftd fu;eus

(D) lkaLœfrd ewY;s

24. [kkyhy fo/kkukapk fopkj djk %

izfriknu (A) :

Hkkjrkr lkekftd ifjorZukph izfÿ;k gh ,d

tfVy ?kVuk vkgs-

dkj.k (R) :

olkgroknkeqˇs Hkkjrh; lkekftd lajpusus

xfreku ifjorZukpk vuqHko ?ksryk vkgs-

(A) (A) vkf.k (R) gh nksUgh fo/kkus cjkscj

vkgsr vkf.k (R) gs (A) ps vpwd

Li"Vhdj.k vkgs-

(B) (A) vkf.k (R) gh nksUgh fo/kkus cjkscj

vkgs- i.k (R) gs (A) ps vpwd

Li"Vhdj.k ukgh

(C) (A) cjkscj vkgs i.k (R) gs pwd vkgs

(D) (R) cjkscj vkgs i.k (A) pwd vkgs

23. The general standards in terms of

which people decide about the

behaviour as good or bad, right or

wrong are referred to as :

(A) Relational Norms

(B) Regulative Norms

(C) Social Norms

(D) Cultural Values

24. Consider the following statements :

Assertion (A) :

The process of social change is a

complex phenomenon in India

Reason (R) :

The Indian social structure

witnessed rapid changes due to

colonialism.

Of these two statements :

(A) Both (A) and (R) are true and

(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true and

(R) is not the correct

explanation of (A)

(C) (A) is true but (R) is false

(D) (R) is true but (A) is false
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25. T;k fÿ;syk izfrfÿ;k visf{kr vlrs] v'kk

fÿ;sdfjrk ehM ;kauh dks.krh laKk okijyh

vkgs \

(A) gkoHkko

(B) lkekftd fÿ;k

(C) œrh

(D) izrhd

26. ^^vki.k eaMˇka'kh lacaf/kr vlrks laLFkka'kh

uOgs** Eg.kts %

(A) eaMˇ vkf.k laLFkk ijLijfojks/kh vlrkr

(B) eaM š Eg.kts yksdlewg vlrkr] rj laLFkk

;k fu;ekaps vkf.k fu;ked rRokaps lap

vlrkr

(C) eaMˇs vk/kqfud vkgsr rj laLFkk ;k

ikjaikfjd vlrkr

(D) eaM š gh vusd vlrkr rj laLFkk ;k

e;kZfnr vlrkr

25. According to Mead, an action that

implies reaction is termed as :

(A) Gesture

(B) Social action

(C) Act

(D) Symbol

26. ‘We belong to associations but not

to institutions’ means :

(A) Associations and institutions

are opposed to each other

(B) Associations are group of people

whereas institutions refer to set

of rules and regulations

(C) Associations are modern and

institution are traditional

(D) Associations are many and

institutions are limited
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27. Who is known for his concept of

social action ?

(A) V. Pareto

(B) K. Marx

(C) E. Durkheim

(D) M. Weber

28. Consider the following statements :

Assertion (A) :

Social movements have generated

an awareness among the deprived

groups in India

Reason (R) :

These movements obstruct the

process of economic development.

Of these two statements :

(A) Both (A) and (R) are true and

(R) is the correct explanation of

(A)

(B) Both (A) and (R) are true and

(R) is not the correct

explanation of (A)

(C) (A) is true but (R) is false

(D) (R) is true but (A) is false

27. lkekftd fÿ;sP;k ladYiuslkBh ;kiSdh dks.k

vksˇ[kyk tkrks \

(A) Ogh- ijsVks

(B) ds- ekDlZ

(C) b- nqf[kZe

(D) ,e~- oscj

28. [kkyhy fo/kkukapk fopkj djk %

izfriknu (A) :

lkekftd pˇoˇhuh Hkkjrkrhy oafpr

lewgkaeË;s tk.kho tkx`rh fuekZ.k dsyh vkgs-

dkj.k (R) :

;k pˇoˇh fodkl izfÿ;sr vMFkˇk fuekZ.k

djrkr

;k nksuiSdh %

(A) (A) o (R) gh nksUgh fo/kkus cjkscj vkgsr

vkf.k (R) gs (A) ps vpwd Li"Vhdj.k

vkgs-

(B) (A) o (R) gh nksUgh fo/kkus cjkscj vkgs-

i.k (R) gs (A) ps vpwd Li"Vhdj.k

ukgh

(C) (A) cjkscj vkgs i.k (R) gs pwd vkgs

(D) (R) cjkscj vkgs i.k (A) pwd vkgs
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29. The concept of ‘Life-World’ is

associated with :

(A) G. H. Mead

(B) L. Althuser

(C) S. F. Nadel

(D) A. Schutz

30. Parsons’s theory of ‘social system’

represents :

(A) Functionalist theory

(B) Conflict theory

(C) Interactionist theory

(D) Phenomenological theory

31. The term ‘Ethnomethodology’ is

introduced by :

(A) G. H. Mead

(B) Coser

(C) Garfinkel

(D) Malinowski

29. ^tho&txr* gh ladYiuk [kkyhyiSdh

dks.kk'kh lacaf/kr vkgs \

(A) th- ,p~- ehM

(B) ,y- vYFkqlj

(C) ,l~- ,Q~- uWMsy

(D) ,- 'kqV~>

30. iklZUlpk ^lkekftd O;oLFks*pk flºkUr

iq<hyiSdh d'kkps izfrfuf/kRo djrks \

(A) izdk;Zoknh flºkUr

(B) la?k"kZ flºkUr

(C) vkarjfÿ;koknh flºkUr

(D) ekul?kVuk'kkL=h; flºkUr

31. ^yksdkUo;iºrh'kkL=* gh laKk dks.kh izFke

ekaMyh \

(A) th- ,p~- ehM

(B) dks>j

(C) xkjfQadsy

(D) eWfyukWLdh
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32. According to Durkheim, pre-

industrial societies were held

together by :

(A) Organic Solidarity

(B) Social Solidarity

(C) Mechanical Solidarity

(D) Group Solidarity

33. Who is the author of “The Rules of

Sociological Method” (1895) ?

(A) E. Durkheim

(B) T. Parsons

(C) R. Merton

(D) R. Dahrendorf

34. Which thinker is known for his

theory of Surplus Value ?

(A) Dahrendorf

(B) Max Weber

(C) Wilfredo Pareto

(D) Karl Marx

32. nq£[keP;k ers iwoZ&vkS|ksfxd lekt gs d'kkP;k

vk/kkjs ,dla/k Bsoys xsys gksrs \

(A) lsafÊ; ,sD;Hkko

(B) lkekftd ,sD;Hkko

(C) ;kaf=d ,sD;Hkko

(D) lewg ,sD;Hkko

33. ^^nh :Yl vkWQ lksf'kvkWykWftdy esFkM**

(1895) gk xzaFk dks.kh fyfgyk vkgs \

(A) b- nqf[kZe

(B) Vh- iklZUl

(C) vkj- eVZu

(D) vkj- MÚgsaMkWQZ

34. vfrfjDr ewY;kP;k flºkarkcÌy dks.krk

fopkjoar izflº vkgs \

(A) MÚgsaMkWQZ

(B) eWDl oscj

(C) foY›sMks ijsVks

(D) dkyZ ekDlZ
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35. Which structuralist theorist put

forth the “Alliance theory” which

emphasizes the importance of

marriage in society ?

(A) Nadel

(B) Radcliffe Brown

(C) Levi Strauss

(D) Karl Marx

36. In Marxian formulation ‘class-in-

itself’ gets transformed into ‘class-

for-itself’ by acquiring :

(A) Wealth

(B) Conflicting economic interest

(C) Class antagonism

(D) Class consciousness

35. lajpukoknh flºkar ekaM.kkÚ;k dks.kR;k fo}kukus

^vyk;Ul flºkar* ekaMyk vkgs dh tks

lektkrhy fookg laLFksP;k egŸokoj Hkj

nsrks \

(A) ukMsy

(B) jWMfDyQ czk≈u

(C) ysoh LV™k≈l

(D) dkyZ ekDlZ

36. ekDlZph ekaM.khrhy ^Dykl&bu&bVlsYQ*

d'kkP;k vk/kkjs Dykl&QkWj&bVlsYQ e/;s

ifjofrZr gksrks \

(A) laiŸkh

(B) la?k"kkZRed vkfFkZd fgrlaca/k

(C) oxZ fojks/k

(D) oxZ tk.kho
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37. Who among the following has

classified society as Militant Society

and Industrial Society ?

(A) Max Weber

(B) Herbert Spencer

(C) Emile Durkheim

(D) Karl Marx

38. Which of the following is not a type

of authority given by Max Weber ?

(A) Ideal

(B) Legal

(C) Traditional

(D) Charismatic

39. The process used for making the

criminal once again fit for

accommodating in society is termed

as :

(A) Adult socialization

(B) Re-socialization

(C) Socialization

(D) Sex-role socialization

37. [kkyhyiSdh dks.kh lektkps lSfudh lekt o

vkS|ksfxd lekt vls oxhZdj.k dsys vkgs \

(A) eWDl oscj

(B) gcZVZ LisUlj

(C) ,fey nq£[ke

(D) dkyZ ekDlZ

38. [kkyhyiSdh dks.krk vf/kdkjkpk izdkj eWDl

oscjP;k foospukr ukgh \

(A) vkn'kZ

(B) fof/kor

(C) ikjaifjd

(D) dfj'ekbZ

39. xqUgsxkjkyk lektkr uO;kus lkekowu ?ks.;klkBh

th izfÿ;k mi;ksxkr vk.kyh tkrs fryk dk;

Eg.krkr \

(A) izkS< lkekthdj.k

(B) iqu%lkekthdj.k

(C) lkekthdj.k

(D) fyaxHkwfedsps lkekthdj.k
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40. Which of the following method is

called as unobstrusive method ?

(A) Case study

(B) Content analysis

(C) Survey

(D) Visual method

41. Which term is used to denote

the middle value in a series of

numbers ?

(A) Average

(B) Mean

(C) Median

(D) Mode

42. Which category of respondents can

not be studied with the help of mailed

questionnaire ?

(A) College students

(B) High officials in bureaucracy

(C) Clerks in Banks

(D) Illiterate persons of any age and

sex

40. [kkyhyiSdh dks.kR;k iºrhyk gLr{ksi u

dj.kkjh iºrh Eg.kwu lacks/kys tkrs \

(A) O;"Vh&v/;;u

(B) vk'k; fo'ys"k.k

(C) losZ{k.k

(D) n`d~ iºrh

41. ÿeekfydsrhy e/;ewY; lwfpr dj.;klkBh

dks.krh laKk okijyh tkrs \

(A) ljkljh

(B) e/;eku

(C) e/;kad

(D) cgqyd

42. iksLVkus ikBoysY;k iz'ukoyhP;k lgk∏;kus

dks.krk izdkjP;k izfrlknhaps v/;;u djrk

;sr ukgh \

(A) egkfo|ky;hu fo|kFkhZ

(B) uksdj'kkghrhy ofj"B vf/kdkjh

(C) c°dsrhy dkjdwu

(D) dks.kR;kgh o;kP;k o fyaxkP;k fuj{kj

O;Drh

http://www.studentbounty.com/
http://studentbounty.com/


18

NOV. - 14211/II

43. dks.kR;k lanHkkZr ekSf[kd bfrgkl iºr

lokZfËkd leiZd Bjrs \

(A) lhekar lewgkaP;k thoukuqHkokaps fo'ys"k.k

(B) ifjoR;kZe/khy laca/kkaps fo'ys"k.k

(C) la[;kRed rF;kaps fo'ys"k.k

(D) iqjkfHkys[k nLr,sotkaps fo'ys"k.k

44. ,[kknk cgqla[;kd lewg vYila[; lewgkyk

Lohdkjrks vkf.k vYila[; lewg izHkkoh

laLœrhrhy fu;eukapk vkf.k ewY;kapk Lohdkj

djrks ;k fLFkrhpk funsZ'k dj.;klkBh dks.krh

laKk okijyh tkrs \

(A) lekos'ku

(B) lelaLœrhdj.k

(C) ,dkRehdj.k

(D) lek;kstu

43. Oral History method becomes highly

relevant in the context of :

(A) Analysing life experiences of

marginalised groups

(B) Analysing relationship between

variables

(C) Analysing quantitative data

(D) Analysing archival documents

44. The acceptance of a minority group

by a majority population, in which

the group takes on the values and

norms of the dominant culture, is

referred to as :

(A) Assimilation

(B) Acculturation

(C) Integration

(D) Accommodation
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45. T;k la'kks/ku ra=ke/;s pykaoj fu;a=.k Bsoysys

vlrs R;k ra=kyk dk; Eg.krkr \

(A) eqyk[kr

(B) uequkiºrh

(C) iz;ksxiºrh

(D) lgHkkxh fujh{k.k

46. ,dk fof'k"V Lora= ifjoR;kZpk ijra=

ifjoR;kZojhy izHkko osxˇk dk<.;klkBh

okij.;kr ;s.kkÚ;k ra=kyk dk; Eg.krkr \

(A) cgqpj fo'ys"k.k

(B) fuxeukRed fo'ys"k.k

(C) foxeukRed fo'ys"k.k

(D) vewrZ fo'ys"k.k

47. ,[kk|k ?kVusP;k l[kksy v/;;ukyk-----------

Eg.krkr-

(A) vk'k; fo'ys"k.k

(B) lgHkkxh fujh{k.k

(C) O;"Vh v/;;u

(D) thou o`Ÿkkar

45. A research technique in which the

variables are kept under control is

called :

(A) Interview

(B) Sampling

(C) Experiment

(D) Participant observation

46. The technique to isolate the effect

of a particular independent variable

on the dependent variable is known

as :

(A) Multivariate analysis

(B) Deductive analysis

(C) Inductive analysis

(D) Abstract analysis

47. The indepth study of a phenomena

is termed as :

(A) Content Analysis

(B) Participant Observation

(C) Case Study

(D) Life History

http://www.studentbounty.com/
http://studentbounty.com/


20

NOV. - 14211/II

48. Objectivity in social science research

implies :

(A) Value reference

(B) Value judgement

(C) Value accommodation

(D) Value orientation

49. Which of the following is a type of

non-probability sampling ?

(A) Simple Random Sampling

(B) Systematic Sampling

(C) Stratified Random Sampling

(D) Purposive Sampling

50. Evaluating the behaviour of

members of other group in terms of

norms and values of one’s own group

is termed as :

(A) Cultural pluralism

(B) Cultural trait

(C) Sub-culture

(D) Ethnocentrism

48. lkekftd foKkukrhy la'kks/kukrhy oLrqfu"Brsr

dk; x`ghr vlrs \

(A) ewY; lanHkZ

(B) ewY; fu.kZ;

(C) ewY; lekos'ku

(D) ewY; mn~cks/ku

49. [kkyhyiSdh dks.krk xSj&laHkkO;rk uequk

fuoMhpk izdkj vkgs \

(A) lk/kk ;kn`fPNd uequk

(B) O;oLFkkcº uequk

(C) Lrfjr ;kn`fPNd uequk

(D) lgsrqd uequk

50. nqlÚ;k lewgkP;k lnL;kaP;k orZukps ewY;ekiu

Lor%P;kp lewgkP;k fu;eus vkf.k ewY;kaP;k

lanHkkZr dj.;kP;k œrhpk funsZ'k dj.;klkBh

dks.krh laKk okijyh tkrs \

(A) lkaLœfrd cgqfo/krk

(B) lkaLœfrd xq.k

(C) mi&laLœrh

(D) LolewgdsafÊrrk
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